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<?xml version="1.0" encoding="UTF-8"7=
- <Config State="0">q——— State=DE TR TR
<LocalDB Ver="(Z&)" LastDatez'-f%%}
<Ftp Enabled="1" Active="1" Port="22"/>
<Web Active="1" Port="8888" AppFile="F:\HealthOne Update\Developer\HOServer\HO!
Index="Index.html" Pass="74696D656C79736F6674" Dir="F:\HealthOne Update\ D:
«zTime Enabled="1" Active="0" Port="37"/>

ISUFE R State=1

erg\:) {#) http://192.168.1.2:2888/login.service?code=80888&pass=1234

<?xml version="1.0" encoding="UTF-8"?>
< Config ErrorText="lkS[8088 | ¥RFBOFEH- " State="1"/=
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1. HOServer BBEEE
| EEER REEEHP EAEERD AFE | SdEEER B
2 HEEEEEE 1 | HealthOne{Z%A) 120.76.159.229 SQLOLEDB.1 53 HealthOne_Dev s Im
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a RISk AL /#H0Seript*/”
b. ¥SJIl “set nocount on 7 iEH)
c. B 5 MR H N URLH 148 5 4 PR
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/*H0Script*/
— (U] EEBTRI
set nocount on
declare @AAO7 int=0, —&liZ 1D, VAAOT7
@VAPO1 int=0, —32)LID, K TORFHUEL LA I
@ACFO1 int=2 ——432KID, ACFO1, 1-[1¥& 2-1%Fi
set @VAAO7 = :VAAO7
set @VAPO1 = :VAPO1
set @ACFO1 = :ACFO1
SELECT
. VAQO1,
. ACFO1,
. VAAOL,
. VAAOT,
. BCKO1,
. CADOI,
a. CADO4,
a. BCEO1,
a. BCEO3A,
a. VAQ13,
a. BCEO3B,
b. BCK03,
a. rownr,
NVAQ14 = CASE
WHEN a. VAQ20 = 0 THEN CONVERT (varchar (16), a. VAQ16, 21)+" {7 CR5EK)’
when a. VAQ20 = 1 then a. BCEO3B+ 7£’ +CONVERT (varchar (16), a. VAQ14, 21)+ S8R
WHEN a. VAQ20 = 2 THEN a. bce03C+ fE’ +CONVERT (varchar (16), a. VAQ19, 21) + JARY’

O O o o o

END,

a. CABO1,
a. VAPO1,
a. VAQL7,



a. VAQ20,

e. CABOZ,

a. VAQ16,

c. CAD11,

a. VAQ19,

a. BCE03C,

a. VAQO1A,

. VAQ21,

. BCKO1B,

. VAQ26,

VAQ27,

CBFO1,

VAQ29,

VAQ30,

. VAQ31,
A. VAQ32

FROM VAQL a
JOIN BCK1 b ON a.BCKO1 = b. BCKO1
JOIN CAD1 c¢ ON a.CADO1 = c.CADO1
JOIN CAB1 e ON a.CABOl1 = e.CABO1

WHERE a. VAAQ7 = @VAAQ7 and a. VAPO1=@VAPO1 and a. ACFO1 = @ACFO1 AND A. VAQ21<3 AND A. VAQ20<>4
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| Firefox ~ | @) hitp://121.199.2.. VAPO1=0&ACF01=2 | + |

(' & 121.199.21.95:8388/emreader/emrlisthoscript?VAADT =12508VAPD1=0&ACFD1 =2
S~ VAWS L7 7
</Fields> E301 S0
—<Data>
—-<Ie>
<VAQO1>14435</VAQO1>
<ACF01>2</ACFO1>
<VAA01>23287</VAAOL>
<VAAOT>1250</VAAOT>
<BCKO01>27</BCKO1>
<CADO01>297</CADO1>
<CADO4>F A jRHNE < /CADO4>
<BCE01>197</BCE01>
<BCE03A>Z=F5F</BCEO3A>
<VAQ13>2011-10-17 16:27:57</VAQ13>
<{BCE03B>Z7F</BCE03B>
<BCK03>33/~#}</BCK03>
<rownr>7201</rownr>
<NVAQ14>2011-10-17 16:29 {R7F (GRTThk) </NVAQ14>
<CAB01>2</CABO1>
<VAPO1>0</VAPO1>
<VAQ17/>
<VAQ20>0</VAQ20>
<CABO2{Efmim 7 </ CABOZ>
<VAQ16>2011-10-17 16:29:31</VAQ16>
<CAD11>0</CAD11>
<VAQ19/>
<BCE03C/>
<VAQO1A>0</VAQO1A>
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<html xmlns="http://www.w3.0rg/1999/xhtml">

<head>

<meta http-equiv="Content-Type" content="text/html; charset=gb2312">

<script src="/jQuery/jquery-1.4.2.js" type="text/javascript"></script>

<style>

.table {width:100%}

.sn{ font-size: 12;
font-family: F#CHER;

url{ font-size: 20;

font-family: F#CHER; |
</style>



<script type="text/javascript">

var LocString=String(window.document.location.href);

function GetQueryString(str){

var rs=new RegExp("(")"+str+"=(["&]*)(&|$)","gi").exec(LocString),tmp;
if(tmp=rs)return tmp[2];

return " XN SHL

H

function InitODP()

{ $.ajax({
type: "GET",
url:

'EMRLIST.hoscript?VAA07="+GetQueryString("VAA07")+'& VAP0 1="+GetQueryString("VAPO1
"+'&ACF01="+GetQueryString("ACF01"),
success: function(data, textStatus){
var table='<table border="1" cellpadding="0" cellspacing="0" class="table">";
$(data).find("Te").each(function()
{
table = table +'<tr>'
+'<td class="sn" width="80px">"t+$(this).children('"VAQ13").text()
+'</td><td class="url"><a
href="../emr.hotopdf?DownFile="+$(this).children('"VAQ31").text()+"'
target="showframe">"+$(this).children('CAD04").text()+'</a></td>'
+</tr>";

}

);

table = table + "</table>";

$("#ODP").attr("innerHTML", table);
|2

error: function(){

s

function Inits()

{
InitODP();

H

</script>

</head>

<body onload="Inits()">
<div id="ODP"></div>
</body>



</html>
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=?xml version="1.0" encoding="UTF-8"?>
<Config ErrorText="K}." Pass="XZdurA==" State="0"/>

TR B % Pass=VBUO09, IS E @S, FNAAE .
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